IACK()

INIT | RrEQ(M1,m2,m3)

ITIMEOUT()

n==3
OCONF(one)

n==two
OCONF(two)

n < two
OCONF(zero)

SC

n=0;
m=0;
msgl =mi;
msg2 = m2;
msg3 = m3;
n==zero
(OFRAME (one,zero,toggle,msg1)
rn=rn+1;
n==one
OFRAME (zero,zero,toggle,msg2)
m=rn+1;

n==two && (msg1 = msg2)
OFRAME(zero,one,toggle,msg3)
m=rn+1;

n==two && msg1==msg2
OFRAME(zero,one,toggle,msg1)
m=rm+1; WA

ms>5
ITIMEOUT()

m<=5
ITIMEOUT()

n==two

IACK()

n=23;

m=0;
toaale=1-toqqgle:

IREQ(m1,m2,m3)

n<two

IACK()

n=n+1;

rn =0;
toggle=1-toggle;



